Algebra QUIZ 3.1 REVIEW SHEET
[image: image1.png]1. Find the perimeter of each shape below in simplest form.
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[image: image3.png]2. The polynomials 4x - 3y and 2x +y represent the lengths of two sides of a
triangle. The perimeter of the triangle is 9x + 2. Determine the length of
the third side.




[image: image4.png]3. A student subtracted (2x%+ 5x +10) - (x°-3) like this:

@l e 10-6=9

:
P [ e I

TIdentify the error the student made and correct it.




[image: image5.png]4. Given the perimeter. determine the unknown length of each shape below.
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[image: image6.png]5. The diagram shows one rectangle inside another rectangle. What is the

difference in the areaof of the rectangles?
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[image: image7.png]7. A triangle has a base of 12x cm and a height of 3.4x cm. What is the area of
the triangle? Note: Area of a triangle = %:(Base x Height)




[image: image8.png]8. The area of a parallelogram is 25.6.x* m?. Determine the height if the base
is 8xm. Note: Area of a parallelogram = BasexHeight




[image: image9.png]9. Marko's rectangular lawn has an area of 36xm?. The length of the lawn is
9 m. Marko wants to add a circular cement patio. What is the area of the
largest circular patio that he could add? Show all calculations. Use the
symbol for pi, T, not an approximate value.




Note: Area of a circle = [image: image11.png]
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[image: image13.png]10. The length of a cement pad on a playground is 3 m longer than the width.
The width is 5xm.
a) Write an expression for the area of the cement pad.

b) If x= 2 m, what is the area of the cement pad?

11. You are decorating the bulletin board in your classroom with pictures of your
classmates. Each picture covers an area of 4xcm?. The area of the board is
4x* +16xcm®. Write an expression to represent how many pictures are
required to cover the board.




[image: image14.png]12. A rectangular lawn has a width of 3xm. The area is 15x* + 45xm*. You
wish to put a fence around the lawn.

What is an expression to represent the perimeter of the lawn?

13. A rectangle’s length is 7 cm greater than its width, w.
a) Draw the rectangle and label its dimensions.



[image: image15.png]b) Write the expression to find its perimeter.

14. The cost of publishing the school yearbook was $440. The yearbook
committee priced the yearbook at $8.
a) Write an expression that represents the profit, p, for the number of
yearbooks sold, 7.

b) How many yearbooks need to be sold for the yearbook committee to break
even?




[image: image16.png]15. A triangle has the dimensions shown.
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a) Write the unsimplified expression for the perimeter of the triangle.
b) If x= 6, what is the perimeter? Show your work.
¢) Simplify the expression in part a) for the perimeter of the triangle. Show

your work.
d) Use the simplified expression to verify the perimeter when x = 6. Show your

work.




